Sub.Code : 1041'Q'
NEB - GRADE XII

2080 (2023)
Accounting
(New Course)

(AR TFRH (@ & AP 95 T O g7 vdendigesr amtn #ra)
faremeliee G@THH ST AT FTT [TI7e | &7 [FATRTAT R5ual sigae i
TATIeE |
Candidates are required to_gi TP NS il their own words as far as
practicable. The figureshn e sy ks
Time: 3 hrs. ] Marks: 75
S TETH IV &

CIN R ey Ve W : 19x9=14

What is piece rate system of wages payment ?

. HFIE GhEadLeTs T e |
Define computer software.
R. AT HTY & 35,000 H FAEN Jfafte qa= THEH |

Prepare adjustment entry of accrued commission Rs. 28.000.
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1041'Q" (2)
90, [ TR EiehT SATRITTAT YT fafel sieaiiar T=atelT PRATHeTIsTe A9IE Yareg T

TR |
From the following information calculate cash flow from operating activities
under indirect method.

ga A (Net Income) Rs. 140,000

=1 wHtaAT qfg (Increase in current Assets) Rs. 80,000

T g=arew @dg (Non-operating expenses) Rs. 40,000

9q. Il qTfiep ATargdedT §00,000 5% et e ufemmT 30,000 THE G

W AT F&AT Il

order quantity 30,000

GeY—%0

R T,

mium

Rs. 30

mium)

. Rs. 40

Applications were recC1vedf@iinl6,000s . No allotment was made to

the applicants for 4,000 shares. Rest was allotted on pro-rata basis. All

calls were duly made and received except one share holder holding 400
shares paid the full value of shares on allotment.

TR e’ (Required): 9Y+3+H9Y

a) AT e (Share application)
b) X Siewis (Share allotment)
¢) X FIH qAT Afeqw fewwar (Share first and final call)

https://dhanrajgurung.com/=#=:(Contd...)



(3) 1041'Q"
93.(I) f Trutaes g% T TPer HEAA },000 faT & 900 TXa &, q0 sifafeh
Hed Tigd AT S T=AT |

A company Ltd. issued 9,000 shares of Rs. 100 each at a premium of Rs.
10 per share to purchase the following assets.

oL @1 ST (Land and Building) Rs. 6,50,000
Fraea I9F (Office Equipment) Rs. 3.40,000
@R e, (Required): 9+9

t par. These

H+1+9

Rs. 12,000

Rs. 1,68,000

Rs. 4,00,000

SC Rs. 12,000

ST @9 (Utility expenses) Rs. 22,000
g< 91T (Discount allowed) Rs. 14,000

99 S&{t (Additional information):
a) W a9 %% & T =X arufaeeasl 2TaHs! |
Depreciation on fixed assets by 15% p.a.
b) WA SHISTHT R+ (Transfer to general reserve Rs. 55,000)
c) TSt 0% amiier g&ra (Proposed dividend @10% on capital.)
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1041'Q" (4)

@R T8, (Required): 9+¥
a) AT AT fearer @rar (Profit & loss account)
b) T AT ASWhIS @rar (Profit & loss appropriation account)

. T3 FFHTH Taaual 39 fedvetar avqa T8 aa fesuat g |

The trial balance of a company as on 31st December last year 1s given

below.
faar (Particulars) #ree (Dr.Rs.)
fa=T (Sales) 320,000

gdc (Purchase

Sior Rs.12,000
TR T (Requited): Y

F fqazer (Work shee
& AN ohEre! qRTeT & ame & i Hwreea et e | 43
Write the meaning of cost accounting and explain it's any three limitations.
0, () Fvsed GTH HT T3 FIAET Fooid THar | R

Mention any two advantages of centralized purchasing.
(IT) e AfeATa AIS TFHl HUNLE® (FATTE G |

Following are the store related transactions for the month of Magh.
arer (Magh)l:  9T% #IS&Td (opening inventory) 300 units@ Rs. 5 cach
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(5) 1041'Q"

#rg (Magh)15: @8’ (Purchase) 500 units@ Rs. 6 each
arg (Magh)25: @& (Purchase) 400 units@ Rs. 7 each
#ry "t fa=t (Sales during Magh) 900 units

T @SR, (Required): 3
Aratre ASaTa GUITeT SITER Afeaqw anger g frerdt fafer wanr i afeaw
AISATAH! AT qTAT frhl aeqah! @RI |

Cost of closing inventory and cost of goods sold using LIFO method under
periodic inventory system

9z. (I) 30 THs a Vﬁ\ Teh AigwTHT ¥L.00
" |

ocs of a We

Income tax paymc

@R e (Required): 3
forclia @@ o ART o feare ferr feaer
Reconciliation statement of financial accounting and cost accounting

9%. FFIEUETS AGT YU (BT (TeivaTgael SATedn el | Y

Explain the features of computerised accounting system.
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1041'Q’ (6)

g T (Group 'C')
E'TERT SUUcHA® T¥e® (Long answer questions) 3IXG=RY
0. UIEN BTGl qivdehl drqerd TUerT e g :

The trial Balance of a company as on year end is as follows :

faTur (Particulars) Dr. (Rs.) Cr. (Rs))

fatt (Sales) . 4,00,000
QI ST (Share capital) . 2,50,000
HIYA (Debenture) 50.000
HTge® (Creditors) 18,000

7,33,000

i) 3fiw fermt @ @fgdr (Prepaid insurance was expired): Rs.15,000
iy sfeawr Hieara (Closing inventory): Rs. 30,000
iii) IO %8RS (Depreciation on machinery) : 15%
1v) ST&HLHN AT Fa (Provision for income tax) : 10%
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(7) 1041'Q'
@R T (Required): ¥+¥

a) NFRS @R 3@ @  (Income statement as per NFRS)
b) NFRS 19R amerd (Balance sheet as per NFRS)
OR (&)
a) AW A faaxr (Multi step income statement)
b) SISt &= & (Verticle balance sheet) ¥+

9. TIeT FHFHIR 09 T R0 TR fRguar &
Following figurgsfarc 021 annd92022 balance sheet of a

company.

Liabilities

i) T=aTe @9 (%, ¥, 9d ¢ Rs. 26,000
Operating expenses (Including interest expenses Rs. 4,000) 1s Rs. 26,000
iv) feax wwata @dw (Fixed assets purchase)  Rs. 29,000
v) g AT (Cash dividend) Rs. 7,000
TR e (Required): ¥+94+3+H9

Yo fafer Wt € 9@ Yarg fereror (Cash flow statement using direct method)
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(8)

NEISLEREEEY (Tender ot
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